

Asymptotic Nature of Nonoscillatory Solutions of Nonlinear Deviating Differential Equations (*) (**).

LU-SAN CHEN - CHEH-CHIH YEH (Republic of China)

Dedicated to Professor Giovanni Sansone on his 90th birthday

Summary. – *The higher order nonlinear deviating equations*

$$x^{(n)}(t) + \delta \sum_{i=1}^m f_i(t, x[g_{i1}(t)], \dots, x[g_{ik}(t)]) = h(t)$$

are considered, where $\delta = \pm 1$. Our main purpose is to characterize the asymptotic behavior of nonoscillatory solutions of above equations.

1. – Introduction.

The purpose of this paper is to characterize the asymptotic behavior of nonoscillatory solutions of nonlinear deviating equations

$$E(\delta): x^{(n)}(t) + \delta \sum_{i=1}^m f_i(t, x[g_{i1}(t)], \dots, x[g_{ik}(t)]) = h(t), \quad \delta = \pm 1.$$

In what follows, we are only going to consider continuous solutions of $E(\delta)$ which are extendable on some positive half-line $I \equiv [t_0, \infty)$, $t_0 > 0$. We call a function on I *oscillatory* if it has arbitrarily large zeros, otherwise it is called *nonoscillatory*.

Throughout this paper, we assume the following conditions always hold:

(i) $g_{ij}, h \in C[I, R \equiv (-\infty, \infty)]$, $\lim_{t \rightarrow \infty} g_{ij}(t) = \infty$ for $i = 1, 2, \dots, m; j = 1, 2, \dots, k$.

(ii) $h(t) = 0$ or there exists an oscillatory function $r(t)$ such that

$$r^{(\nu)}(t) = h(t), \quad \lim_{t \rightarrow \infty} r^{(\nu)}(t) = 0 \quad \text{for } \nu = 0, 1, \dots, n-1.$$

(iii) $f_i \in C[I \times R^k, R]$, for $x_i > 0$, $j = 1, 2, \dots, k$ and all $t \geq t_0$ imply

$$0 < f_i(t, x_1, \dots, x_k) \leq -f_i(t, -x_1, \dots, -x_k)$$

(*) Entrata in Redazione il 19 maggio 1978.

(**) This research was supported by the National Science Council.

for $i = 1, 2, \dots, m$. Moreover there is an index p , $1 \leq p \leq n$ such that $f_p(t, x_1, \dots, x_k)$ is nondecreasing with respect to x_1, x_2, \dots, x_k and for all $t \geq t_0$.

Using condition (ii), $E(\delta)$ may be written as

$$L(\delta): y^{(n)}(t) + \delta \sum_{i=1}^m f_i(t, y[g_{i1}(t)] + r[g_{i1}(t)], \dots, \\ y[g_{ik}(t)] + r[g_{ik}(t)]) = 0$$

where $y(t) = x(t) - r(t)$.

In order to obtain our main results, we need the following two lemmas. The first lemma is an analog of a result due to KIGURADZE [10], the other is due to STAIKOS and SFICAS [19].

LEMMA 1. - *If $x(t)$ is a positive (negative) solution of $E(\delta)$ for $t \geq t_0$, then there is a $T \geq t_0$ for which $y(t) = x(t) - r(t)$ is a positive (negative) solution of $L(\delta)$ for $t \geq T$. Also there is an integer l , $0 \leq l \leq n$ with $n+l$ odd if $y^{(n)}(t) \leq 0$, $n+l$ even if $y^{(n)}(t) \geq 0$ and such that for $t \geq T$*

$$(1) \quad \begin{cases} l > 0 \text{ imply } y^{(\alpha)}(t) > 0, & \alpha = 0, 1, \dots, l-1 \\ l \leq n-1 \text{ imply } (-1)^{l+\alpha} y^{(\alpha)}(t) > 0, & \alpha = l, l+1, \dots, n \end{cases}$$

$$(2) \quad x^{(\alpha)}(t)y^{(\alpha)}(t) > 0 \quad \text{for } \alpha = 0, 1, \dots, n.$$

PROOF. - We only consider $E(+1)$. We assume that $x(t)$ and $x[g_{ij}(t)]$ are positive for $t \geq t_0$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, k$, since $x(t) < 0$ can be discussed similarly. Then $y(t) = x(t) - r(t)$ is a solution of $L(+1)$. Condition (iii) implies $y^{(n)}(t) < 0$. If $y(t) \leq 0$ for t large enough, then $r(t) > -y(t) \geq 0$, a contradiction to the oscillatory character of $r(t)$. Hence $y(t) > 0$. By KIGURADZE's lemma [10], we have (1). Let $y^{(\alpha)}(t) > 0$ (< 0). If $x^{(\alpha)}(t) < 0$ (> 0), then $r^{(\alpha)}(t) = x^{(\alpha)}(t) - y^{(\alpha)}(t) < 0$ (> 0), a contradiction. This contradiction proves (2).

LEMMA 2. - *If $y(t)$ is as in Lemma 1 and for some $0 \leq \tilde{\alpha} \leq n-2$, $\lim_{t \rightarrow \infty} y^{(\tilde{\alpha})}(t) = c$, $c \in \mathbb{R}$, then*

$$\lim_{t \rightarrow \infty} y^{(\alpha)}(t) = 0, \quad \alpha = \tilde{\alpha} + 1, \dots, n-1.$$

2. - Main results.

THEOREM 1. - *Let n be even. Assume that*

$$(C_1) \quad \int_{t_0}^{\infty} f_p(t, cg_{p1}(t), \dots, cg_{pk}(t)) dt = \pm \infty$$

for any constant $c \neq 0$, and

$$(C_2) \quad \begin{aligned} f_p(t, cg_{p1}(s), \dots, cg_{pk}(s)) &\leq sf_p(t, c, \dots, c) & \text{for } c > 0 \\ f_p(t, cg_{p1}(s), \dots, cg_{pk}(s)) &\geq sf_p(t, c, \dots, c) & \text{for } c < 0 \end{aligned}$$

for all large t and $s > 0$. Then each nonoscillatory solution of $E(-1)$ has either $x^{(\kappa)}(t) \rightarrow 0$ or $|x^{(\kappa)}(t)| \rightarrow \infty$ as $t \rightarrow \infty$ for $\kappa = 0, 1, \dots, n-1$.

PROOF. - Without any loss of generality, we can assume that $x(t)$ and $x[g_{ij}(t)]$ are positive for $t \geq t_0$ and $i = 1, 2, \dots, m, j = 1, 2, \dots, k$. Let $y(t) = x(t) - r(t)$. Then we have $L(-1)$. Condition (iii) implies $y^{(n)}(t) > 0$. It follows from Lemma 1 that there exist a $t_1 \geq t_0$ and an integer l (even) such that (1) and (2) hold for $t \geq t_1$. If $x'(t) > 0$, then by Lemma 1, $x''(t) > 0$. Therefore $x(t) \rightarrow \infty$ as $t \rightarrow \infty$ and

$$\lim_{t \rightarrow \infty} \frac{x(t)}{t} = \lim_{t \rightarrow \infty} \frac{x(t) - x(t_1)}{t - t_1} \geq x'(t_1) > 0.$$

Let $x'(t_1) = 2c$. Then there is a $t_2 \geq t_1$ such that $x(t)/t > c$ for $t \geq t_2$. By (i) there is a $T \geq t_2$ such that $g_{ij}(t) \geq t_2$ for $t \geq T$. Thus for $t \geq T$

$$(3) \quad x[g_{ij}(t)] > cg_{ij}(t), \quad i = 1, 2, \dots, m, j = 1, 2, \dots, k.$$

Integrating $L(-1)$ from T to t and using (3), (iii), we have

$$y^{(n-1)}(t) \geq y^{(n-1)}(T) + \int_T^t f_p(s, cg_{p1}(s), \dots, cg_{pk}(s)) ds \rightarrow \infty$$

as $t \rightarrow \infty$. Thus $y^{(\kappa)}(t) \rightarrow \infty$ as $t \rightarrow \infty$ for $\kappa = 0, 1, \dots, n-1$. Condition (ii) implies $\lim_{t \rightarrow \infty} x^{(\kappa)}(t) = \infty$ for $\kappa = 0, 1, \dots, n-1$.

If $x'(t) < 0$, then $\lim_{t \rightarrow \infty} x(t)$ exists and is nonnegative. Hence by Lemma 2, $\lim_{t \rightarrow \infty} x^{(\kappa)}(t) = 0$ for $\kappa = 1, 2, \dots, n-1$. Since $x'(t) < 0$, by Lemma 1, $(-1)^\kappa x^{(\kappa)}(t) > 0$, for $t \geq t_0, \kappa = 1, 2, \dots, n$. If $\lim_{t \rightarrow \infty} x(t) = 2c > 0$, then there exists a $T \geq t_0$ such that for $t \geq T$

$$(4) \quad x[g_{ij}(t)] \geq c, \quad i = 1, 2, \dots, m, j = 1, 2, \dots, k.$$

Integrating $L(-1)$ from T to t

$$(5) \quad y^{(n-1)}(t) = y^{(n-1)}(T) + \int_T^t \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds.$$

Hence

$$(6) \quad y^{(n-1)}(T) = - \int_T^\infty \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds.$$

Integrating (5) from T to t and using (i), (iii), (5) and (6), we have

$$\begin{aligned} y^{(n-2)}(t) &= y^{(n-2)}(T) + (t-T)y^{(n-1)}(T) + \\ &+ \int_T^t (t-s) \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds = \\ &= y^{(n-2)}(T) + \int_T^t (T-s) \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds - \\ &- (t-T) \int_t^\infty \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds < \\ &\leq y^{(n-2)}(T) - Ty^{(n-1)}(T) - \int_T^t f_p(s, cg_{p1}(s), \dots, cg_{pk}(s)) ds \rightarrow -\infty \end{aligned}$$

as $t \rightarrow \infty$, a contradiction. Hence $c = 0$.

EXAMPLE 1. - Consider the equation for $t \geq \pi$

$$x''(t) - e^\pi x(t - \pi) = e^{-t}(e^{2\pi} \sin t - 2 \cos t)$$

which has $x(t) = e^t + e^{-t} \sin t$ as a nonoscillatory solution.

EXAMPLE 2. - Equation

$$x''(t) - e^{-\pi} x(t - \pi) = e^{-t}(2 \cos t - \sin t)$$

has $x(t) = e^{-t}(2 - \sin t)$ as a nonoscillatory solution.

THEOREM 2. - Let $n \geq 3$ be odd and conditions (C_1) , (C_2) hold. If $x(t)$ is a nonoscillatory solution of $E(+1)$, then $x^{(n)}(t) \rightarrow 0$ as $t \rightarrow \infty$ for $\alpha = 0, 1, \dots, n-1$.

PROOF. - As in the proof of Theorem 1, we only discuss the case where $x(t)$ and $x[g_{ij}(t)]$ are positive for $t \geq t_0$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, k$. Let $y(t) = x(t) - r(t)$. Then $E(+1)$ can be written as $L(+1)$. Condition (iii) implies $y^{(n)}(t) < 0$ for $t \geq t_0$. It follows from Lemma 1 that there is a $t_1 \geq t_0$ and an integer l (even) such that (1) and (2) hold for $t \geq t_1$. If $x'(t) > 0$ for $t \geq t_1$, then $l \geq 2$. Thus as in the proof of Theorem 1, there is a $c > 0$ and $T \geq t_1$ such that (3) holds for $t \geq T$. Integrating $L(+1)$ from T to t and using (iii), (4), we have

$$y^{(n-1)}(t) \leq y^{(n-1)}(T) - \int_T^t f_p(s, cg_{p1}(s), \dots, cg_{pk}(s)) ds \rightarrow -\infty$$

as $t \rightarrow \infty$, a contradiction. Hence $x'(t) < 0$ for $t \geq t_1$, then $\lim_{t \rightarrow \infty} x(t)$ exists and is non-negative. By Lemma 2, $\lim_{t \rightarrow \infty} x^{(\kappa)}(t) = 0$ for $\kappa = 1, 2, \dots, n-1$. If $\lim_{t \rightarrow \infty} x(t) = 2c > 0$, then there exists a $T \geq t_1$ such that (4) holds for $t \geq T$. Since $x'(t) < 0$ for $t \geq T$ by Lemma 1, $(-1)^\kappa x^{(\kappa)}(t) > 0$ for $t \geq T$, $\kappa = 0, 1, \dots, n$. Integrating $L(+1)$ from T to t , we have

$$(7) \quad y^{(n-1)}(t) = y^{(n-1)}(T) - \int_T^t \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds.$$

Hence

$$(8) \quad y^{(n-1)}(T) = \int_T^\infty \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds.$$

Integrating (7) and using (4), (8), (iii) we have

$$y^{(n-2)}(t) \geq y^{(n-2)}(T) - T y^{(n-1)}(T) + \int_T^t f_x(s, c g_{x1}(s), \dots, c g_{xk}(s)) ds \rightarrow \infty$$

as $t \rightarrow \infty$, a contradiction. Hence $c = 0$.

EXAMPLE 3. - Equation

$$x'''(t) + e^{-t}x(t - \pi) = -e^{-t}(2 \cos t + \sin t)$$

has $x(t) = e^{-t}(2 - \sin t)$ as a nonoscillatory solution.

THEOREM 3. - Let $n \geq 2$ be even. Assume that

$$\int_0^\infty t^{n-1} f_\nu(t, c, \dots, c) dt = \pm \infty \quad \text{for any constant } c \neq 0.$$

If $x(t)$ is a nonoscillatory solution of $E(+1)$, then $x(t) \rightarrow \pm \infty$ as $t \rightarrow \infty$.

PROOF. - Without loss of generality, we may assume that $x(t)$ and $x[g_{ij}(t)]$ are positive for $t \geq t_0$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, k$. Let $y(t) = x(t) - r(t)$. Thus as in the proof of Theorem 2, we have $y^{(n)}(t) < 0$ for $t \geq t_0$. By Lemma 1 there exist a $T \geq t_0$ and an integer l (odd) such that (1) and (2) hold for $t \geq T$. If $l = 3$, then we see easily that $y(t) \rightarrow \infty$. Hence $x(t) \rightarrow \infty$ as $t \rightarrow \infty$. If $l = 1$, then

$$(9) \quad (-1)^{\kappa+1} y^{(\kappa)}(t) > 0 \quad \text{for } \kappa = 0, 1, \dots, n.$$

If $y(t)$ is unbounded, then we have our theorem. Now consider the case $y(t)$ is bounded. Multiplying $L(+1)$ by t^{n-1} and integrating it from T to t

$$(10) \quad Q(t) - Q(T) + (-1)^{(n-1)}(n-1)!(y(t) - y(T)) + \int_T^t s^{(n-1)} \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds = 0$$

where $Q(t) = \sum_{\kappa=0}^{n-2} (-1)^\kappa [t^{n-1}]^{(\kappa)} y^{(n-\kappa-1)}(t)$.

By (9), $Q(t) > 0$. Hence

$$y(t) > Q(T) + \int_T^t s^{n-1} f_p(s, c, \dots, c) ds \rightarrow \infty \quad \text{as } t \rightarrow \infty$$

where $c = x(T)$, a contradiction. Hence our proof is complete.

EXAMPLE 4. - Equation $x''(t) + (1/4t^2)x(t) = 0$ has a nonoscillatory solution $x(t) = t^{\frac{1}{2}}$.

THEOREM 4. - Let $n \geq 3$ be odd and condition (C_1) hold. Assume that

$$\int_0^\infty f_p(t, c, \dots, c) dt = \pm \infty \quad \text{for any constant } c \neq 0.$$

If $x(t)$ is a nonoscillatory solution of $E(-1)$, then $|x^{(\kappa)}(t)| \rightarrow \infty$ as $t \rightarrow \infty$ for $\kappa = 0, 1, \dots, n-1$.

PROOF. - Without any loss of generality, we assume that $x(t)$ and $x[g_{ij}(t)]$ are positive for $t \geq t_0$ and $i = 1, 2, \dots, m, j = 1, 2, \dots, k$. Let $y(t) = x(t) - r(t)$. As in the proof of Theorem 1, we have $y^{(n)}(t) > 0$ and (1), (2) hold for $t \geq t_0$, where t_0 is large enough. If $y^{(n-1)}(t) > 0$, then as in the proof of Theorem 1, $y^{(\kappa)}(t) \rightarrow \infty$ thus $x^{(\kappa)}(t) \rightarrow \infty$ as $t \rightarrow \infty$ for $\kappa = 1, 2, \dots, n-1$. If $y^{(n-1)}(t) < 0$, then $y'(t) > 0$. There exist a $T \geq t_0$ and a constant $c > 0$ such that $x[g_{ij}(t)] > c$ for $t \geq T$. Hence

$$y^{(n-1)}(t) = y^{(n-1)}(T) + \int_T^t \sum_{i=1}^m f_i(s, x[g_{i1}(s)], \dots, x[g_{ik}(s)]) ds > y^{(n-1)}(T) + \int_T^t f_p(s, c, \dots, c) ds \rightarrow \infty.$$

as $t \rightarrow \infty$, a contradiction.

EXAMPLE 5. - Equation $x'''(t) - e^\pi x(t - \pi) = e^{-t}(2 \cos t + 2 \sin t + e^{2\pi} \sin t)$ has a nonoscillatory solution $x(t) = e^t + e^{-t} \sin t$.

REFERENCES

- [1] J. S. BRADLEY, *Oscillation theorems for a second order delay equation*, J. Differential Equation, **8** (1970), pp. 397-403.
- [2] LU-SAN CHEN, *On the oscillation of solutions of the equation $[r(t)x^{(n-1)}(t)]' + \delta \sum_{i=1}^m p_i(t) \cdot \varphi(x[g_i(t)]) = 0$* , Ann. Mat. Pura Appl., **112** (1977), pp. 305-314.
- [3] LU-SAN CHEN, *Sufficient conditions for nonoscillation of n-th order nonlinear differential equations*, Atti Accad. Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur., **60** (1976), pp. 27-31.
- [4] LU-SAN CHEN, *Note on asymptotic behavior of solutions of a second order nonlinear differential equations*, J. Math. Anal. Appl., **57** (1977), pp. 481-485.
- [5] LU-SAN CHEN, *On the nonoscillatory properties of solutions of a functional differential equations*, Bull. Soc. Math. Greece, **17** (1976), pp. 11-19.
- [6] LU-SAN CHEH - CHEH-CHIH YEH, *Nonoscillation generating delay terms in odd order differential equations*, Rend. Accad. Sci. Fis. Mat. Napoli, **43** (1976), pp. 189-198.
- [7] LU-SAN CHEN - CHEH-CHIH YEH, *Oscillatory and asymptotic characterization of the solutions of higher order forced differential equations generated by deviating arguments*, Rendiconti dell'Istituto di Matematica dell'Università di Trieste, **9** (1977), pp. 70-82.
- [8] H. E. GOLLWITZER, *On nonlinear oscillations for a second order delay equations*, J. Math. Anal. Appl., **26** (1969), pp. 385-389.
- [9] A. G. KARTSATOS, *On the maintenance of solutions of n-th order equations under the effect of small forcing term*, J. Differential Equations, **10** (1971), pp. 355-363.
- [10] T. KIGURADZE, *The problem of oscillation of solutions of nonlinear differential equations*, Differential'nye Uravnenija, **1** (1965), pp. 995-1006 (Russian).
- [11] T. KUSANO - H. ONOSE, *Oscillations of functional differential equations with retarded arguments*, J. Differential Equations, **15** (1974), pp. 269-277.
- [12] G. LADAS, *Oscillation and asymptotic behavior of solutions of differential equations with retarded argument*, J. Differential Equations, **10** (1971), pp. 281-290.
- [13] G. LADAS - G. LADDE - J. S. PAPADAKIS, *Oscillations of functional differential equations generated by delays*, J. Differential Equations, **12** (1972), pp. 385-395.
- [14] G. LADAS - V. LAKSHINIKANTHAM - J. S. PAPADAKIS, *Oscillations of higher order retarded differential equations generated by retarded argument*, Delay and Functional Differential Equations and Their Applications (Ed. by K. SCHMITT), Academic Press, New York (1972), pp. 219-251.
- [15] B. SINGH, *A necessary and sufficient condition for the oscillation of an even order nonlinear delay differential equations*, Canada J. Math., **25** (1973), pp. 1078-1089.
- [16] B. SINGH, *Impact of delays on oscillation in general functional equations*, Hiroshima Math. J., **5** (1975), pp. 351-361.
- [17] V. A. STAIKOS, *Oscillatory properties of certain delay differential equations*, Bull. Soc. Math. Greece, **11** (1970), pp. 1-5.
- [18] V. A. STAIKOS - A. G. PETSOUHAS, *Some oscillation criteria for second order nonlinear delay differential equations*, J. Math. Anal. Appl., **30** (1970), pp. 695-701.
- [19] V. A. STAIKOS - Y. G. SFICAS, *Oscillatory and asymptotic characterization of the solutions of differential equations with deviating arguments*, J. London Math. Soc., **10** (1975), pp. 39-47.